[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

10 12 14 16 18 20

track x?

9] F 1%} F 123 0
S f S F ] ] P
g I g I g g
= 10°E® = 10tk = =
P g Fe 2 10 2}
E S E :‘E § 102
I I o
10°F 10°F 3
E E 10?
10°F 10°F “d
10F 10F Fd.
o F M S o ° 0 I O 1 ° :
S AR R [ 3 g STEHC T 3 .
e N +: 1 x @ R (AR ) €
1"":"+*:*++:++ +«H» ; i 0 { i
RN | '|' LI Do “ ] IR LR 1) S
Y24 6 8 10 12 14 16 18 20 02 4 6 8 10 12 14 16 18 20 8 10 12 14 16 18 20 0 2 4 6 8
track x2 track x2 track x2
T BOM—FF—ORIGHNAL = -
| N of reco track vs,sl —— BéM—H:M8B|E|EB—BFBB¥BB|SH$— EVSF%SRE'NA&% Jyerset
2] F 1%} F 2] 0
S S F ] S
£ . £ . £ g
g R g g
o
1035 ™ 10°Ewemmma 3
y
10?
10
o o * o )
8 3 109 3 &
0.95F




	Contents
	Page 1


